DHEEROBIERR (BfL: 4 Sv./h)
. - 50cm
No| BIER X% I & T =FT A = I6
1| 4RB48 &AL AY O T 0.06 - - -
2 4R 128 4 |BAETS 0.06 - 0.07 -
3 YU I7UEE 0.09 - 0.08 0.08
4 TERSHR & S A 0.06 0.06 - -
5 H o (FREABOOR 0.07 - 0.07 007
6| 4A6H ﬂz I =P AYNE 0.06 - - 0.05
7 X |HFEHLE 0.06 0.07 0.08 0.07
8 [BKE/NERR 0.06 - - -
. N 50cm
No| BIER |[HEX%A M 5 B i =FLT A = 76
1| 4R188 mATdLE AY O&T] 0.06 - - -
2 4A21E 5% |BEFS 0.06 - 0.09 -
3 YU I7UEE 0.10 - 0.09 -
4 TERSHA & S A 0.05 0.06 - -
5 H | PREABOOR 0.07 - 0.07 0.07
6| 4A6H ﬁ [ S EAYNES 0.06 - - 0.06
7 X |HFHLE 0.07 0.07 0.08 0.08
8 [BKGE/NERR 0.05 - - -

BIES: 7OARENALUFL—2ar Y —_AAA—H(TCS—172)




